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ERHTIE FUEZTHER WmEMEY A feA A o REEMEF AN =B £ BZ: 353 -
Yy | BMN~BXK |k / n|FY | BMN~BK |k / n|FY | BP~BK |k / n|Fy| BDP~BK [k / n
FRNA) [25TiE 0.02 0.02 ~0.04 |12 / 12/ 0.006| 0.004 ~ 0.012 |12 / 12 - <0.01 0/ 2 ~ /
FHIIQ2) )= 0.04 0.02 ~0.08 [12 / 12]0.017| 0.005 ~ 0.030 (12 / 12| 0.02 | <0.01 ~ 0.02 1/ 2(0.046] 0.031 ~0.053 | 4 / 4
LR A 0.06 0.01 ~0.13 |12 / 12]0.026| 0.009 ~ 0.042 |12 / 12| 0.02 | <0.01 ~ 0.02 1/ 2(0.033]0.026 ~0.037 |4 / 4
ENTHR () [BEXE 0.05 0.01 ~0.13 [12 / 12/ 0.027| 0.009 ~ 0.044 (12 / 12| 0.01 [ <0.01 ~ 0.01 1/ 2 ~ /
HITRQ |=601E 0.07 0.03 ~0.18 [12 / 12| 0.13 | 0.100 ~ 0.20 (12 / 12| 0.02 0.01 ~ 0.03 2 /210.050( 0.038 ~0.057 | 4 / 4
BN LR (1) |HETHE - <0.01 0/ 60017 0.011 ~0.022 |6 /6 - <0.01 0/6 ~ /
BENLEGR Q) |Z&KE 0.01 | <0.01 ~ 0.01 2 /6]0.016[ 0.010 ~0.022 |6 / 6 - <0.01 0/6 ~ /
BIITR TIE 0.04 | <0.01 ~ 0.09 3 /6]0018[0.012 ~0.023 |6 /6 - <0.01 0/6 ~ /
AREN(2) s 0.13 0.03 ~0.36 |12 / 12]0.078| 0.044 ~ 0.17 |12 / 12| 0.02 | <0.01 ~ 0.04 8 / 12 ~ /
RiZ)I(3) KB 0.03 | <0.01 ~0.08 |11 / 12/0.037| 0.029 ~ 0.048 (12 / 12] 0.02 [ <0.01 ~ 0.02 1/ 2(0.075]| 0.053 ~0.086 | 4 / 4
AREINQ) EKIE 0.03 | <0.01 ~0.09 [10 / 12/0.039| 0.028 ~ 0.048 (12 / 12] 0.02 [ <0.01 ~ 0.02 1/ 2 ~ /
RiZI(3) KiZ)IEERE 0.03 | <0.01 ~0.09 [10 / 12]/0.042| 0.026 ~ 0.056 |12 / 12] 0.02 [ <0.01 ~ 0.02 1/ 2(0.072] 0.054 ~0.081 | 4 / 4
HEBILER |REE - <0.01 0/ 11]0.008 0. 008 1 /1 - <0.01 0/ 2 ~ /
HEBIITR |WWRE 0.02 | <0.01 ~ 0.02 1/ 2(0.011]0.002 ~0.019 | 2 /2| 0.04 ] <0.01 ~ 0.04 1/ 2 ~ /
HEBITR [LABE 0.02 0.01 ~0.03 4 / 410.017| 0.006 ~0.036 | 4 / 4 - <0.01 0/ 2 ~ /
HBIITR |SEEE 0.02 | <0.01 ~ 0.02 3 /410020 0.015 ~0.035 |4 /4 - <0.01 0/ 2 ~ /
HEBIITR |KEE 0.03 | <0.01 ~ 0.04 3 /410030 0.025 ~0.037 | 4/ 4 - <0.01 0/ 2]0.048| 0.030 ~0.072 | 4 / 4
HBIITHR |BRIIE 0.03 | <0.01 ~ 0.05 3 /410028 0.015 ~0.041 (4 / 4 - <0.01 0/ 2 ~ /
BFEII N EE 0.04 0.01 ~ 0.07 2 /210030 0.005 ~0.055|2 /2] 0.01 0.01 2 /2 ~ /
I EAE 0.03 0.01 ~ 0.05 2 /2100210012 ~003 |2 /2] 0.02 0.01 ~ 0.03 2 /2 ~ /
EFNI TR 0.04 0.04 1/ 1/(0.030 0.030 1 /1 - <0.01 0/ 2 ~ /
INENIEFR |mET - REAEmERS - <0.01 0 /6 0015] 0.006 ~0.030 |6 /6| 0.02] <0.01 ~0.05 4 /6 ~ /
INGJITTRFR [/NEEE - <0.01 0/ 2]0.024| 0.020 ~0.027 | 2 / 2| 0.04 | <0.01 ~ 0.04 1/ 2(0.041] 0.024 ~0.057 |2 / 2
K& iy - <0.01 0/2]0.15 0.10 ~0.190 | 2 / 2 | 0.01 0.01 2 /210076 0.059 ~0.092 2 /2
e TRRIE 0.01 0.002 0.01 0.004
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Ty | BP~BXK [k / n|FY | BM~BKX |k / n|FH | BM~BK |k / n|FH| BP~EXK [k / n
BHILR |ZE6B - <0.01 0 /6 (0023 0.016 ~0.028 [6 /6 - <0. 01 0/6 ~ /
BHITR |TaE - <0.01 0/ 6[002( 0.016 ~0.028 [ 6 / 6 - <0.01 0/6 ~ /
HEN EEB 0.01 ] <0.01 ~ 0.01 1/ 6]0.015(0.009 ~0.018 |6 /6| 0.02]|<0.01 ~0.02 1/6 ~ /
AR HiE - <0.01 0/ 2[0.054( 0.045 ~0.062 | 2 /2| 0.01 | <0.01 ~ 0.01 1/ 2 ~ /
EE FHE - <0.01 0/ 2[0.006[0.003 ~0.008|2 /2] 0.01]<0.01 ~0.01 1/2 ~ /
EEL HHE - <0.01 0 /1 |0.062 0. 062 1/ 11]0.02] <0.01 ~0.02 1/ 2 ~ /
R A ATHE 0.06 | <0.01 ~ 0.06 1/ 2]0.079] 0.048 ~ 0.11 2/ 2 - <0. 01 0/2 ~ /
=Ll WG 0.01 | <0.01 ~ 0.02 3 /6 [0.036( 0.017 ~0.059 | 6 /6| 0.01 [ <0.01 ~ 0.01 2/6 ~ /
Kl FERABIE 0.02 | <0.01 ~ 0.02 1 /6 [0.028] 0.009 ~0.040 [ 6 / 6 | 0.03 [ <0.01 ~0.06 |3 /6 ~ /
eI RUIE - <0.01 0 /210.011]0.010~0012 |2 /2 - <0. 01 0 /210027 0.019 ~0.034 |2 /2
HREF)II FIRKIE - <0.01 0 /2]0.007] 0.005 ~0.009 | 2 / 2 - <0.01 0/2 ~ /
=2 RS 0.14 0.14 1/ 1]0.048 0.048 1 /1] 0.02]|<0.01 ~0.02 1/ 2 ~ /
E#I FERHE 0.01 | <0.01 ~ 0.01 1/ 210.006( 0.003 ~0.008 |2 /2] 0.03]|<0.01 ~0.03 1/2 ~ /
J\AJI J\BJIIKE 0.12 | 0.02 ~ 0.22 2 /2 (0.067| 0.036 ~0.098 | 2 /2| 0.07 [ <0.01 ~ 0.07 1/ 2 ~ /
BNl NERE 0.04 ] 0.01 ~0.06 2/ 2(0.024] 0.012 ~0.036 | 2 / 2| 0.02 [ <0.01 ~ 0.02 1/2 ~ /
mud: ] TERIE 0.02 0.01 ~0.03 |4 /4]0.036[0.027 ~0.040 | 4 / 4 - <0. 01 0 /2]0.049]| 0.035 ~0.058 [ 4 / 4
il KiEE 0.01 ] <0.01 ~ 0.01 1/ 2]0.021] 0.017 ~0.024 | 2 / 2 - <0.01 0/2 ~ /
= EIE - <0.01 0 /2]0.004|0.003 ~0.005|2 /2| 0.04]<0.01 ~0.04 1/2 ~ /
FEZNI AR 0.01 ] <0.01 ~ 0.01 1/ 2]0.011] 0.008 ~0.013 |2 /2 - 0. 01 0/2 ~ /
el E—5A)I14E 0.01 | <0.01 ~ 0.01 1 /2 [0.006]| 0.002 ~0.009 [2 /2| 0.01 | <0.01 ~0.01 1/210.023(0.021 ~0.025 | 2 / 2
KFI ROE 0.03 0.02~0.04 |2 /2]0013[0.008~0.017 |2 /2]003]| 001 ~004 [2/2]017]| 0.16~0.18 |2 /2
f=A)I 4G 0.02 ] 0.01 ~0.03 2 /2 (0.035[0.018 ~0052 |2 /2 - <0. 01 0/ 2 ~ /
Fi FIE - <0.01 0/ 2(0.006]| 0.002 ~0.010 |2 /2| 0.02|<0.01 ~0.02 1/2 ~ /
ERA =iEE 0.03 | <0.01 ~ 0.03 1/ 2(0.031]0.009 ~0.053 2 /2] 0.01][<0.01 ~0.01 1/2 ~ /
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Fy | Bh~BK [k / n| FY Bh~BK |k / n|FY| BD~BK |k / n
S8BT (1) [RILBME 0.03| 0.01 ~005 |2 /2 - <0.002 0/2]| 13 19 ~ 15 4 /4
SERE (1) Btk 0.07 | <0.01 ~ 0.07 1/ 2 - <0. 002 0/ 2 7.0 28 ~ 15 4 /4
HBEEE (2) |[fo¥aSk 0.06 | <0.01 ~0.06 |1 /2 - <0.002 0/2| 41 15 ~ 85 4 /4
SERE (2) |EHLAGHHE 0.02 | <0.01 ~ 0.02 1/ 2 - <0. 002 0/ 2 6.6 13 ~ 15 4 /4
=EE IR - <0.01 0/2 - <0.002 0/2]| 30 11 ~ 56 4 /4
[=9E 30 EigthiE - <0.01 0/2 - <0. 002 0/ 2 5.9 12 ~ 10 4 /4
FIER S FRIIRAR - <0. 01 0 /2]0.004|<0.002 ~ 0.004|1 /2] 90 40 ~ 17 4 /4
fE%iE 2o > 8 - <0.01 0/2 - <0. 002 0/ 2 " 6.9 ~ 24 4 /4
B % BRI 5T - <0. 01 0/2 - <0.002 0/2]| 10 72 ~ 18 4 /4
AERE BEOE - <0.01 0 /2]0.003 [<0.002 ~ 0.003[1 /2 7.0 11 ~ 17 4 /4
AERE ZEa - <0. 01 0/2 - <0. 002 0/2 10 6.3 ~ 17 4 /4
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